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11 IIEI2 &3 10,000 20,000 A 10,000
Ozt Z&E JtolEetel & BAZ(HMEEXIHIS 20% X&) 10,000,000 10,000
401 AIEBIZ 2018l 25,000 70,000 A 45,000
01 Al & HI 25,000 70,000 A 45,000
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—SHEZHEANEEZ (AE3-6,2-14 550,000,000 =3.38% 18,590
03 Al 2 CHHI 3,600 9,000 A5,400
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—WAZHEANECZ(221-554H) &S AH(L=427m B=10m) 1,641,200,000& =14 1,641,200
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H2SX2AAHNR2AAELEH 32,458 0 32,458
401 Al HIZ S THHI 32,458 0 32,458
01 Al & HI 32,458 0 32,458
ORM2E X+ & A& A H 32,458
—SIA 2B RN REZ2 (A Z23-4354) MES A 160,000, 000& *4.62% 7,392
—SIA 2B RN RE 2 (A Z22-2854) ME S A 230,000,000 *4.22% 9,706
—SHM2BEXNRE=2(L23-1,3-854) HESA 400,000,000 *3.84% 15,360
THEANES 7 2el 100,720 100,000 720
401 AIEHIZ 2 0H I 100,720 100,000 720
01 Al &l 100,000 100,000 0
OZHEANEES S22 (13000 =) 100,000,000 =14l 100,000
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OZHEANEE A2 100,000, 000& *0.72% 720
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& 4,800
cUEES 20,000 x5& * 143 1,400
& 1,400
oEd 25 69,053 63,750 5,303
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M SAEZ D
H: AL ol BEELE(BZEES/HH)
chel: 22N LAY (e &)
SN ZE - BR(AA) - MRAY - B2 0l &t e RS2
01 A= X ZH| 1,000 2,000 A 1,000
O0fdsE 7 dZH 100,000& *10A 1,000
SSaE4A ZX 2 | 397,600 425,580 N 27,980
401 AIEHIZ 20 226,800 263,080 N 36,280
01 Al &4 225,936 262,000 N 36,064
SSSEA W= (MY 2EAZ &) 128,936
— Al &l 120,000,000& *1JH & 120,000
— & Al Al HI 120,000, 000& *5.78% 6,936
— ZEl 500,000& *23l 1,000
—MXNEERES 1,000,000& =13 1,000
O3Ss&d EN(5d HHREX) 20,000
— Al £l 20,000,000& * 101 2 20,000
OSSEY 2718 HEFAY 500,000& *809H £ 40,000
OolsastaEa 2y 30,000
—0lsAlat# A (32 10,000,000& *2= 20,000
—olsAlstHA(12H) 1,000,000& x10S 10,000
O20lstEA X & 3l=AtY 350,000& *x20= 7,000
03 AlE =2 0HHI 864 1,080 N 216
SSHEHY H= 120,000, 000& *0.72% 864
402 212t =01 A 170,800 162,500 8,300
02 QI2HTH& AL S HI 170,800 162,500 8,300
OZSTL QS 22 ALY 2,135,000& «80JH 2 170,800
WG MBEATAM 233,395 243,849 A 10,454
= 72,000
Il 20,533
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HE: NN BHGHE BITL(BABS/NN)
CHol: BB MEBHIZY ECH-E)
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
< 22,741
2 118,121
24 JiERL HZBE 8,700 1,200 7,500
201 Ler2 Y| 2,700 1,200 1,500
01 Ak 2l 2,700 1,200 1,500
OMOIGHEMEIA A +H2AA H4S A 6,000 x20074 1,200
ONMQABHAHRIA L HAYS RO 5002! *3,00004 1,500
207 9RO e H] 6,000 0 6,000
01 g pE A 6,000 0 6,000
ONEE=4+T2E L Hel £48 24 89 6,000,000% *14! 6,000
MYl RUEI| S 57,880 68,932 A 11,052
201 Y2 | 46,040 45,896 144
01 Ak eIt 14,360 45,896 ~31,536
OMYIl, 24, HE2L SHHS oz Y| 7,000 4% * 120 3,360
OMEDl EHS)| S£Q8 1= 50,0002 20 1,000
OMYIl SHEI| HY 222 ME 2002 +10, 0000 2,000
OMYDl ASEIIXY ZDT &X 300,000} * 1074 4 3,000
OAIJEXI M@l +98 Mx 200,000 * 107K 4 2,000
OMADIEX HZLA 2SS (HALETR S) 3,000, 0002 3,000
02 2B 31,680 0 31,680
OMeDl 2SI G 31,680
—2AItHE YUE K2 (18CH) 1,960,0002! * 122 23,520
—®ea 100,0008! * 122 1,200
— 2N AEHY ABE X2 20,0008 197 4 * 122 4,560
—2AIt0E O F & Y] 120,0002 %203 2,400
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FH: AN ol SEXLE(BEES/KA)
ool HHE MBHAZM (6ol @ e
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
301 EtE N = 1,000 1,000 0
1M IIEE &= 1,000 1,000 0
OstZegdl SAZ(H=, A4, L8 S) 50,000& 201 1,000
307 gIz2tol & 2,000 2,000 0
04 CIZHHAAIE RS 2,000 2,000 0
Os1=8 UsZH 24 1,000, 000& »23] 2,000
401 AlEHIZL 28I 8,840 0 8,840
01 Al & HI 8,840 0 8,840
OZAIFtHI 2t Ol &I 3 AkHI 200,000& *203| 4,000
OZAIJtHI2H OI& 0 MHE SN=LS 242,000 203 4,840
AT ol = Kl AHY 22,815 22,933 A 118
Il 20,533
& 1,141
= 1,141
301 LeEtB a3 22,815 22,933 A 118
Il 20,533
= 1,141
i 1,141
01 A 2Z X 63 22,815 22,933 A 118
OJIs2xsmd 22,815
— S H =S 22,815,000& 22,815
Il 20,533
& 1,141
= 1,141
SdOEMEl X2 ALY 144,000 150,784 A6, 784
= 72,000
& 21,600
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= = & E
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= 50, 400
402 RI2HXHEZ 0| 144,000 96,000 48,000
2 72,000
= 21,600
2 50,400
01 PR 2BE 144,000 96,000 48,000
O3t AMd 144,000
—2HO0IE HelAY 2,880, 0002 *505 144,000
2 72,000
= 21,600
2 50,400
W MBHY IL(HBBS/HIIL) 1,447,455 3,476,798 £2,029,343
2 8,000
= 14,000
2 1,425,455
MO 2T Y WES 685,537 1,065,198 379,661
= 8,000
= 14,000
2 663,537
MEMYI S0 YL A 610,537 993,198 382,661
101 21 21b| 96,397 144,968 £48,571
04 JAR2RRNSE 2 96,397 144,968 £48,571
Oeicty JI2HA U HEBE 29 84,992
-Je3 41,6802 +72 %2002 58,352
—F5+9 41,6802 472 x452 13,130
PN RS 41,680 x7H « 12 3,502
—BEHE(UH2E) 71,482,000 *14% 10,008




S
X‘liH:
el

SN BE-CRI(BH) - NREAMY - BAS 0l &k 24 e HlDZ 2

O#tXl Mydl =A(0HEH, o) 11,405
—Jl=2= 41,6803 x4 60 10,004
—S2E=E(4UEE) 10,004, 000& *14% 1,401

201 L Et2g| 281,440 408,690 A 127,250

01 At 2teltl 15,500 100,600 A 85,100
O&FAEH 7Y & =4 100,000& *10&E *13l 1,000
OMedl thEs & 23 22 M 250,000 x2E *23| 1,000
OLeSAE SAER HIIS 22=H ) 7 90,000 *100H 9,000
OSAEE HII2 2 E2Z3 (&) MX 150& %30, 000 H 4,500

02 =524l 265,940 308,090 A 42,150
O X+ &l 250,650
—FaxrE(1200) 1,900& x304 *12CH*300 205,200
— X=(1H) 1,900 304 *1CH*150 8,550
— ZHI(E=H, KAL) 1,900 204 *3CH+100 11,400
—Xtg, Ul FHKRA L A2 2(7H) 1,500, 000& = 17CH 25,500
OBES(HIIZAM, NSIA EZ&) 800,000& *17CH 13,600
OJletss=2(s#ENE2g3) 65,0002 »13CH 23| 1,690

202 O Hl 16,800 8,640 8,160

01 =W HI 16,800 8,640 8,160
OSAS MY A= He 2 20,000 »2H 15 128 7,200
OMEMY I M2l Z2UHoHI(2EE) 10,0002 *8H x 10 x 123 9,600

206 M =4l 64,800 64,800 0

01 M &4l 64,800 64,800 0
Olzdax & 532 PPEN M 800& =6, 00004 4,800
OMYIIESEH HASE HE(65) 2503 *20,00001 123 60,000
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M &
PSR

el Maldl 2 U WES

(=] A XH Ct2| ( 3 (=] A N2 OH @EE =2}
301 EtE N = 2,100 7,100 25,000
1M IIEE &= 2,100 2,100 0
oness(gd=sHll2) =8 2+ 3 2,100
-z 1,000,000& 15 © 1,000
-2 = 500,000&x1&H 500
- o 300,000& 28 H 600
307 2Iztol A 110,000 310,000 A200,000
05 QI2tREr 3 110,000 310,000 200,000
O2BA=F HII= | Hdeltl 100,000& =1, 100&€ 110,000
401 Al & HI 2 2 0H I 30,000 40,000 A 10,000
01 Al & HI 30,000 40,000 A 10,000
OXgDl BHEXE Ho (8 500,000 *20H 2~ 10,000
OZ=sHIIS(BHAEE) HMel 100,000& *200= 20,000
405 T4+ 3 St 9,000 9,000 0
01 AR ESH=HI 9,000 9,000 0
oMess 2a+=HEJI(38=2 300,000 *30= 9,000
HHE=HBIX& 75,000 72,000 3,000
= 8,000
= 14,000
= 53,000
301 LEIE &S 75,000 72,000 3,000
= 8,000
= 14,000
= 53,000
11 JIEI2 &3 75,000 72,000 3,000
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2AM: SAEZEN
Y e MEsd RS (BFES/HIIE)
Chel: Mo 2" 2 THES (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
O=HIEZ AL 75,000
— HHE =XHdl XI& 100& x750,000kg 75,000
= 8,000
= 14,000
= 53,000
HII2 HMelAld 761,918 2,411,600 A 1,649,682
HIIZ2 HelAd 29 319,661 138,560 181,101
101 I24H] 52,701 0 52,701
04 JI12ZtH 22 HSE+ 52,701 0 52,701
oMl & HEES HE 52,701
—Jl== 42,9203 *4H 2002 34,336
— 2tAlH| 3,000& x4 +200! 2,400
- =5 42,9203 x4H x45 7,726
— XY 42,9203 x4H 12 2,061
—-BEZ(4UHEE) 44,123,000 »14% 6,178
201 L Er2Fdl 176,160 52,760 123,400
01 At 2teltl 89,600 11,000 78,600
OHJIE XMelAE 22X Sl 7,000& x5H 100! 3,500
Ogd =5 € 3NHY )| Xz 81,600
— 24| 600,000 83| x 128 57,600
—gZEd™ 500,000& *43| x12& 24,000
QHIISHM2AYE 22X IAE LSS 100,000& x9H 900
OFALSAML HEE £ 200,000& 128 2,400
OHJIIZ2 HMelAE Ex &7 72¢ 300,000& *43| 1,200
02 2324l 86,560 41,760 44,800




M SAEZ D
H: HYRG MEEH TH(FFES/HIIS)
T A

el HOI2 HMalAld (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
OHII=2(HE, HESIANE 2223 HA 3,500,000& x12& 42,000
OAEZH SXUI(HEY, HESAIL) 400,000& *10&+12] 4,000
OfR9olFHl CCTV AtZ Xtz 9,600
— &l HEAE 400,000& 128 4,800
—JI&E HE A 400,000& x12& 4,800
OMEAMNE &Fx =FIAM =2 13,800
—dES 400,000& 123 4,800
— KNI &t== 250,000 90 A x43| 9,000
OMEAAE HAZN =2 (7T &) 160,000& 34 & x123] 5,760
OHJI2EEgHMelE A=2H(HH s ) 1,900& 204 *100L *3S 11,400
206 M Z 8l 45,800 45,800 0
01 M= 4l 45,800 45,800 0
ONasEdE A28 +¢ 100,000 »10& *4 2| 4,000
OMEES =H2LE HEZH L(1ES) 10, 000& *50004 5,000
OHII= HEANE =SEN 2 2,000,000& *53| 10,000
OPETE =D 252 H 7L 100,000& 202 2,000
OHII2MelAld SHAXZ(A4SH) 30,000& *300& 9,000
OUBAE 25H S (LHMNE) 30,000& «100& 3,000
OB &=+ MelAg 437 30,000 *3Z #2655 [H 201 2 4,500
OHLAE 228 FL(FZ, 023 ) 500& «45% 280 6,300
OHJI2HMeANE HYZSE 2 (3EX S) 500,000 *43] 2,000
301 LEIE A& Z 5,000 0 5,000
09 HAIAHIE &S 5,000 0 5,000
OFASAMA HIOISHAIE HAE &I 24 7,000 «50H 43| 1,400
OBALEAMA AAX AS 60,0002 x60H * 13| 3,600
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SH: CTASAD
HE: YN MHEHY

MEEY XH(BYRS/HIIE)
e HII2 ™MelAlAd (CHe & &)
SN ED SR (H) - HEAY - BAS 0l AF o e +

401 AIEHIZ 201 H| 40,000 40,000 0

01 Al & HI 40,000 40,000 0
OMEAIE B 10,000, 000& * 1A x20 A 20,000
OMEE HdEANE BEX(ZE)] 5) 2,500,000& 45 10,000
OHJIZ2 HM2AIE W &l =&l 5,000,000& *23| 10,000

HIOIE2 22Ad 29 442,257 0 442 257

101 21 A H 142,117 0 142,117

04 JI2tHZ22XSE > 142,117 0 142,117
OXL2ZAE 2 142,117
—-J|l23 45,8503 *6H x260! 71,526
— =54 45,8503 6 H x52 14,306
—AdAxE 45,8503 *6H x 15 4,127
— o224 5,7403 »2H *8 Al 2t %3002 27,552
—5¢d224 45,8503 *2% x52 x150% 7,153
—2EH2(4HEE) 124,664 ,000& *14% 17,453

201 LBt A H| 159,400 0 159,400

01 AFR2 22| Bl 61,600 0 61,600
OJIHIF Jisy 7 150, 000& *123] 1,800
OA2228 HII=E2 Hel /s =22 200,000& *60E 12,000
omllg Xt =58 A= =2 800,000& x52== 41,600
O22ZA4 OoIsA 58 =2 3,500,000& *13] 3,500
OXLZAE ARES 53] 100, 000& *123] 1,200
OAZANE 222 P (UIotdsg, g2 5) 300,000& x5 1,500

02 3329l 97,800 0 97,800
OL2AANE 3322 HA 4,000,000& x12& 48,000
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SHEANSED
B WHE MBEY

MEsd X4(2#F2S/HIIS)
el HOI2 HMalAld (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

O&EIItEZAL =2 700,000& =123 8,400

Ou+E (Y24, 48+ 5) 200,000%! * 122 2,400

Oag 3LFZ =82 1,000,000& »13] 1,000

OL2ANE 2E RFHI 1,700,000& 122 20,400

Oege =2 4 S 1,500,000 »43] 6,000

O3J1g=Il FXNE= 500,000& *43| 2,000

OL2tAIE A& EH Xl 800,000& =123 9,600
202 O Bl 1,440 1,440
01 =W HI 1,440 1,440

OZIZANE (222 S) d2FX ¢ AS 60,0003 x4 «63| 1,440
206 M Z 8l 44,300 44,300
01 M2 4l 44,300 44,300

OL2ZANE 2E 45 2¥ 44,300

—SHEH DEE =22 443 300& *4,000kg 1,200

— AN EE Y LA 1,700,000& 122 20,400

— 388 22 1,300& x5,000kg 6,500

—AFHMAHE SHE 4,000& «500kg 2,000

— o248 MAHAE LELE 900,000& =128 10,800

— 2 F2H 50,0003 *50& 2,500

—olgunsa=X 3,000& *300¢ 900
401 Al & HI 2 2 0H 8] 95,000 95,000
01 Al & HI 95,000 95,000

OAa2z SWEH HutE WX 15,000, 000& 23| 30,000

OLZANE RA.E= 15,000,000 15,000

OaxZAlE Jl=0l& bl 30,000, 000& =14 30,000
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2AM: SAEZEN
Y e MEsd RS (BFES/HIIE)
el HOI2 HMalAld (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
OXZAE HE 0l EAY 20,000
—EHY4d AN HEE Y 20,000, 000& =14 20,000
HREs(SAZ)(#FES /46t - =F) 1,665,000 1,115,000 550,000
HEAHH K= 1,665,000 1,115,000 550,000
AN BES 1,665,000 1,115,000 550,000
701 JIELSI HIE E S 1,650,000 1,100,000 550,000
01 JIEtSI AN ES 1,650,000 1,100,000 550,000
O&EIIDIEAHZHEANELEUXNEZ L SES3H HEZ 150,000,000& 150,000
O==ZMNEELE3H &3 1,500,000, 000& 1,500,000
02 J138ES 15,000 15,000 0
0MIISdES 15,000 15,000 0
O=ZnHUII=2 ¥&E3 (=2, UHE =2 2) 15,000,000 15,000
HY2IZH (S AIE#Z)(OIEH/DIEH) 122,032 123,056 21,024
JlEZ 122,032 123,056 A1,024
JlEZ 122,032 123,056 AN1,024
201 L Er2F | 67,792 65,786 2,006
01 At 2tel bl 67,792 65,786 2,006
OFRNBNH 1,831,000& «32H 58,592
O= gl 7,000 32 25 5,600
OFXSAI LR (AR, HIISHElFE) 150,000 2CH 123 3,600
202 O i 49,920 53,010 A 3,090
01 = i HI 49,920 53,010 A 3,090
OZ LAYl 90,000& x24F 123 25,920
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SH: SAEZD
A HH2IHU (S A3 )(IIEH/DIEH
& J1=2Z 4
= = & E
SN BE-CRI(BH) - NREAMY - BAS 0l & e
OZ2l 0l 75,0003 x32Z =10 24,000
203 H R =&l 4,320 4,260
04 RFHA2ELRFTH 4,320 4,260
OFRNMSEYRF=LH 360,000& 128 4,320
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